Quiz-041004

1. Please derive the worst case lower bound of the sorting problem? (40%)

2. Please derive the best case, worst case and average case time complexity of the quick sort algorithm? (60%)
Quick_Sort Algorithm

L:Left, R:Right, P:Pivot

If L < R then

  Partition the elements in the subarray L..R so that P is in place 

  Apply QuickSort to the first subarray L..P-1 

  Apply QuickSort to the second subarray P+1..R 

End of Quick_Sort
The two stopping cases are: 

1. (L = R) -- only one value in subarray so sorted! 

2. (L > R) -- no values in subarray so sorted!
